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Inverse Trig Values - 1
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1.  aresinO equals 2. Which of the following is a solution of
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3. Which of the following is a solution of 4. Sclve for 6, where (0 <6 < 27}
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Let f(z) =1—sinz — (cosx)?, where 0 < 2 < 3. 6.
Find the zeros of f.
V65
a) 0and § b) T only <) 3
¢) 0, % andm d) 0, 3, and 7 Q A\/;;a @ v’:s
) 0and 2 only
sin {arctan (£} is equal to 8. Find the exact value of cos [arctan {—2)].
23 V13 V3 5 12 NG 3v13 2413
y 22 p) X2 o9 = = -z by 22 -
s Vs 9% d95 9% Rl ) i3 R
2V13 /5

93 9 g

seclarctan 3] is equal to 10. What is an algebraic expression for
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